
 
1. Which of the equations below represents the second step of 
the solution process? 
 

 
 
 
(a)  5(6x+1)+4=-39   (c) 30x+4+1=-39  
       
(b)  5(6x+5)=-39    (d) 30x+20+1=-39  
  
 
2. On a certain day the exchange rate of Mexican pesos for U.S. 
dollars was approximately 10 pesos for 1 dollar. If an exchange of 
4,000 pesos was made that day, what was the approximate value 
of the exchange in dollars? 
 
 
(a)  $40     (c) $4000  
       
(b)  $400      (d) $40000 
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3. Last basketball season Ricky made 58% of the free throws he 
attempted. In the first game this season, Ricky went to the free-
throw line 10 times. About how many free throws did Ricky make 
if his success rate from last season continued? 
 
 
(a) 58    (c) 6 
       
(b) 10    (d) 4 
 
 
4. Alonso’s family rented a car when they flew to Orlando for a 4-
day vacation. They paid $39 per day and $0.09 for each mile 
driven. How much did it cost to rent the car for 4 days and drive 
350 miles, not including tax? 
 
 
(a) $70.50     (c) $156.00    
   
(b) $124.50    (d) $187.50                                              
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5. Kate has 2 similar triangular pieces of paper, as shown below. 
 

 
 
(a) 2.4 cm      (c) 16.5 cm   
    
(b) 7.3 cm      (d) 19.6 cm  
 
 
6. Auto-Check Motors charged Mr. Jones $84.00 for an 
automotive part plus $68.00 per hour that a mechanic worked to 
install the part. The total charge was $353.00. For about how 
long did the mechanic work to install the part on Mr. Jones’s car? 
 
 
(a) 6h     (c) 4h 
 
(b) 5h     (d) 3h 
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7. In the graph of the function y = x2 + 5, which describes the 
shift in the vertex of the parabola if, in the function, 5 is 
changed to –2? 
 
 
(a) 3 units up     (c) 3 units down 
 
(b) 7 units up     (d) 7 units down 
 
 
8. Which expression describes the area in square units of a 
rectangle that has a width of 4x3y2 and a length of 3x2y 3? 
 
 
(a) 12x6y6      (c) 7x6y6 
 
(b) 12x5y5     (d) 7x5y5 
 
 
9. Monica collected data on the ages and heights of a random 
sample of sixth-, seventh-, and eighth-grade students at her 
school. If she plots the data on a scatter plot, what relationship 
will she most likely see between age and height? 
 
 
(a) A negative correlation   (c) A positive correlation 
 
(b) No correlation    (d) A constant correlation 
 
 
 
 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 
10. Ms. Kitts works at a music store. Last week she sold 6 more 
than 3 times the number of CDs that she sold this week. Ms. 
Kitts sold a total of 108 CDs over the 2 weeks. Which system of 
equations can be used to find l, the number of CDs she sold last 
week, and t, the number of CDs she sold this week? 
 
 
(a) l + t = 108     (c) l + t = 108 
      t = 3l + 6         l = 3t – 6 
 
(b) l + t = 108     (d) l + t = 108 
       t = 3l – 6          l = 3t + 6 
 
 
11. The function g(x) = 1.25 + 0.70(x - 1) represents the charge 
for parking in the mall garage for x number of hours. Which 
statement best represents the formula for this charge? 
 
 
(a) The charge consists of a set fee of $1.25 plus $0.70 for 
every hour parked.  
 
(b) The charge consists of a flat rate of $0.70 for every hour 
parked.  
 
(c) The charge consists of $1.25 for the first hour parked and 
$0.70 for each additional hour. 
 
(d) The charge consists of $1.25 for every hour parked plus a set 
fee of $0.70. 
 
 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 
12. Describe the effect on the area of a circle when the radius is 
doubled. 
  
 
(a) The area is reduced by ½  
 
(b) The area remains constant. 
  
(c) The area is doubled. 
 
(d) The area is increased four times. 
 
 
13. A couple bought a house and calculated that they would pay 
30% of their combined monthly income of $5,569.75 toward the 
monthly mortgage payment on the house. Approximately how much 
will the couple pay for their monthly mortgage payment? 
 
 
(a) $186     (c) $3,899 
 
(b) $1,671     (d) $18,566 
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14. A large room has the dimensions shown below. A partition is to 
be installed so that 2 classes can use it. The area of the smaller 
classroom is 38x. How can the area of the larger classroom be 
expressed in terms of x? 

 
 
 
(a) 50-38x     (c) (50-x)/38 
 
(b) 38(50)/(3x)     (d) 38(50-x) 
 
 
15. A lawn is shaped like a parallelogram with a base of 32 feet 
and a height of 15 feet. Covering the lawn with grass will cost 
$2.60 per square foot. How much money will it cost to cover the 
lawn with grass? 
 
 
(a) $1248     (c) $1250 
 
(b) $1249      (d) $1251 
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16. Which problem is best represented by the number sentence 
19 + 3(12 – x) = 40? 
 

 
(a) Ricardo spent $19, and Lydia spent 3 times $12 less than 

Ricardo. Together they spent $40. How much did Lydia spend?   
 

(b) Gail earned $19 baby-sitting and mowed 3 lawns in less   
     than 12 hours. She earned a total of $40. How much did  
     she earn per lawn? 
 
(c) Juan earned $19 baby-sitting and sold 3 boxes of  
     apples for $12 each. Now he has $40. How much did he   
     earn? 
 
(d) Denise paid $19 for 1 regularly priced item and bought 3                                                      
      on sale that were regularly priced at $12. She spent $40 in 
      all. What was the price reduction on the 3 sale items?     
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17. Trina was recording the calorie content of the food she ate. 
For lunch she had 3 ounces of chicken, 2 slices of cheese, 2 slices 
of wheat bread, one-half tablespoon of mayonnaise, a 16-ounce 
glass of lemonade, and an apple for dessert. According to the 
chart below, which equation best represents the total number of 
calories she consumed during lunch? 
 

 
 

(a) Calories = 3(115)+2(45) +2(55)+1/2(100)+16(110)+70 
 
(b) Calories = 115+45+55+100+110+70 
 
(c) Calories = 115+2(45)+2(55)+1/2(100)+2(110)+70 
 
(d) Calories = 115+45/2+55/2+2(100)+110/2+70 
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18. Which is always a correct conclusion about the quantities in 
the function y = x + 4? 

 
 

(a) The variable x is always 4 more than y. 
 

(b) When the value of x is negative, the value of y is also   
      negative. 
 
(c) The variable y is always greater than x. 
 
(d) As the value of x increases, the value of y decreases. 
 
 
19. The area of a rectangle is 30m11n5 square units. If the length 
of the rectangle is 6m4n2 units, how many units wide is the 
rectangle? (m ≠ 0 and n ≠ 0) 
 
 
(a) 5m7n3 units     (c) 36m15n7 units 
 
(b) 24m7n3 units     (d) 180m15n7 units 
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20. The net of a cube is shown below. 

 

 
 
Use the ruler on the Mathematics Chart to measure the 
dimensions of the cube to the nearest tenth of a centimeter. 
Which best represents the volume of this cube to the nearest 
cubic centimeter? 
 
 
(a) 11 cm3     (c) 30 cm3 
 
(b) 13 cm3      (d) 42 cm3 
 
 
21. The number of hours Abe practices golf each week, g, is 2 
more than the number of hours he runs, r. Which equation 
represents the number of hours he runs each week? 

 
 

(a) r = g – 2     (c) g = 2r 
 
(b) g = r – 2     (d) r = g + 2 
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22. A 12- by 16-foot rectangular floor will be covered by square 
tiles that measure 2 feet on each side. If the tiles are not cut, 
how many of them will be needed to cover the floor? 
 
 
(a) 192     (c) 48 
 
(b) 96     (d) 14 
 
 
23. A store sells milk in two different containers. The first 
container is a rectangular prism that has a height of 8 inches and 
a square base with a side length of 2 inches. The other container 
is a cylinder with a radius of 1.75 inches and a height of 8 inches. 
Which best describes the relationship between the two 
containers? 
 
 
(a) The prism has the greater volume.  
 
(b) The cylinder has the greater volume. 
 
(c) The volumes are equivalent. 
 
(d) The volumes cannot be determined. 
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24. Mr. McGregor wanted to cover the floor in his living room 
with carpet that cost $12 per square yard. The blueprint below 
shows the area of the living room relative to the area of the 
house.  

 
 
What information must be provided in order to find the total 
cost of the carpet? 
 
 
(a) The lengths and widths of the adjoining rooms in the blueprint  
 
(b) The scale of yards to inches in the blueprint 
 
(c) The total area of the house in the blueprint 
 
(d) The thickness of the carpeting in inches 
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25. A watch loses 3 minutes every 24 hours. How much time will it 
lose in 2 hours? 
 
 
(a) 1.6 seconds    (c) 15 seconds  
 
(b) 5 seconds    (d) 22.5 seconds  
 
26. At Reyna High School 50% of the students eat lunch in the 
school cafeteria. In the same school 10% of the students 
participate in sports. What is the probability that a student 
selected at random eats in the school cafeteria and participates 
in sports?   

 
 
(a) 1/2    (c) 1/20 
 
(b) 1/10    (d) 1/60 
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27. In a town, there is a small garden shaped like a triangle, as 
shown below. The side of the garden that faces Sixth Street is 
80 feet in length. The side of the garden that faces Third 
Avenue is 30 feet in length. 

 
 

What is the approximate length of the side of the garden that 
faces Elm Street? 
 
 
(a) 35 ft    (c) 85 ft 
 
(b) 40 ft    (d) 110 ft 
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28. In the distance formula d = rt, r represents the rate of 
change, or slope. Which ray on the graph best represents a slope 
of 55 mph? 

 
 
 

(a) W     (c) Y 
 
(b) X      (d) Z 
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29. The cost of renting a DVD at a certain store is described by 
the function 
 

f(x) = 4x + 3 
 

in which f(x) is the cost and x is the time in days. If Lupe has $12 
to spend, what is the maximum number of days that she can rent 
a single DVD if tax is not considered? 
 
 
(a) 1      (c) 3 
 
(b) 2      (d) 7 
 
30. A math club decided to buy T-shirts for its members. A 
clothing company quoted the following prices for the T-shirts. 

 
 
Which equation best describes the relationship between the total 
cost, c, and the number of T-shirts, s? 
 
 
(a)  c = 6.75s     (c) c = 2s – 20 
 
(b) c = 7.00s     (d) c = 15 + 6s 
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31. For a car traveling at a speed of 50 miles per hour, the 
relationship between the distance traveled, d, and the time 
traveled, t, is described by the function d = 50t. Which 
statement is true? 

 
 

(a) The time traveled depends on the distance traveled. 
 
(b) The distance traveled depends on the time traveled. 
 
(c) The speed of the car depends on the distance traveled. 
 

(d) The speed of the car depends on the time traveled. 
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32. Jake made a map of his neighborhood for a school project. He 
placed a grid over the map. 
 

 
 
 
Which coordinate point best represents the post office? 
 
 
(a) (6, 12)     (c) (1.2, 0.6) 
 
(b) (12, 6)     (d) (0.6, 1.2) 
 
 
33. Which linear function includes the points (–3, 1) and (–2, 4)? 
 
 
(a) f(x)=3x+10     (c) f(x)=3x-6 
 
(b) f(x)=(1/3)x+2    (d) f(x)=-3x+1 
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34. The Alejo family budgeted $2000 for their vacation. Their 
budget consisted of $800 for travel costs and $75 per day for 
other expenses. Which inequality represents the number of days, 
x, the family could have stayed on vacation? 
 
 
(a) 800 + 75x < 2000    (c) 800x – 75 > 2000 
 
(b) 800x + 75 > 2000    (d) 800 – 75x < 2000 
 
35. The area of a rectangle is given by the equation 2l2 – 5l = 18, 
in which l is the rectangle’s length. What is the length of the 
rectangle? 
 
 
(a) 1.5     (c) 4.5 
 
(b) 2      (d) 6 
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36. Triangle RST is shown on the coordinate plane below. 
 

 
 
 
(a) (–2, –3), (–4, –6), (–5, –1)  (c) (0, 3), (–2, 6), (–3, 1) 
 
(b) (2, 3), (4, 6), (5, 1)   (d) (2, –3), (4, –6), (5, –1) 
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37. Students in a science class recorded lengths of a stretched 
spring, as shown in the table below. 
 

 
 
 
 

(a) y = -5x     (c) y = 5x2 

 
(b) y = 5/x     (d) y= 5x 
 
38. Passengers on many commercial flights may make calls from a 
telephone provided by the airline. On a certain airline a call costs 
$3 to connect plus $2 for each minute. Which equation best 
represents c, the total cost for a call that lasts m minutes? 
 
 
(a) m = 3 + 2c    (c) m = 2 + 3c 

 
(b) c = 3 + 2m    (d) c = 2 + 3m 
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39. When graphed, which function would appear to be shifted 2 
units up from the graph of f(x) = x2 + 1? 
 
 
(a) g(x) = x 2 – 1    (c) g(x) = x 2 – 2 

 
(b) g(x) = x 2 + 3    (d) g(x) = x 2 + 2 
 
 
40. Divide 20 in to 4 parts which are in A.P such that the product 
of the first and fourth is to the product of the second and third 
in the ratio 2:3. Find the four parts of 20.  
 
 
(a) 2, 4, 6, 8    (c) 3, 3, 6, 8   
 
(b) 2, 4, 7, 7    (d) 5, 5, 3, 7 
 
 
41. If a clock strikes appropriate number of times at each hour, 
(i) how many times will it strike in a day? (ii) if it strikes the half 
hour also, how many times will it strike in a day? 
 
 
(a) 154, 178    (c) 156, 180 
 
(b) 155, 179    (d) 157, 181 
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42. A circus tent is cylindrical to a height of 3 m and conical 
above it. If the base radius is 52.5 m and slant height of the cone 
is 53 m, find the area of canvas required to make the tent.  
 
 
(a) (3096.5)∏ m2   (c) (3098.5)∏ m2    
 
(b) (3097.5)∏ m2   (d) (3099.5)∏ m2 
 
 
 
43. An overhead tank has been constructed to supply water to a 
village with a population of 3140 at the rate of 25 liters per head 
per day. Water is pumped in to it through a pipe of 10 cm 
diameter, the rate of flow being 4 m per second. How long will 
take to fill the tank every evening?  

 
 

(a) 38 minutes 40 seconds  (c) 40 minutes 40 seconds 
 
(b) 39 minutes 40 seconds  (d) 41 minutes 40 seconds 
 
 
44. In the set of N of natural numbers, define the relation R by 
xRy if x+y=9. Find n(R). 
 
 
(a) 8       (c) 10  
 
(b) 9       (d) 11  
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45. Solve: x+y =3, y+z=-5, z+x=2.   
 
 

(a) x=-5, y=-2, z=-3    (c) x=5, y=2, z=-3 
 
(b) x=5, y=-2, z=-3    (d) x=5, y=-2, z=3 
 
 
46. Find the values of “a” and “b” , if 3x4+x3+ax2+5x+b is exactly 
divisible by (x+2) and (x-1).  
 

 
(a) a=7, b=-2    (c) a=-7, b=2 
 
(b) a=7, b=2    (d) a=-7, b=-2  
 
 
47. Find the G.C.D of  (a3-1) and (a2-1).  

 
 
(a) –a      (c) a-1  
 
(b) a+1     (d) a 
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48. The G.C.D and L.C.M of two polynomials are (x+1) and (x6-1) 
respectively. If one of the polynomials is x3+1, find the other  
 
 
 
(a) (x3-1)(x2+1)    (c) (x3-1)(x+1) 
 
(b) (x3-1)(x2-1)    (d) (x3-1)(x-1) 
 
 
 
49.  The height of the right circular cone is 7 cm greater than its 
radius. The slant height is 8 cm greater than its radius. Find the 
curved surface area of the cone.  

 
 
(a) 62∏ cm2    (c) 64∏ cm2 
 
(b) 63∏ cm2    (d) 65∏ cm2 
 
 
50. The following table gives the activities of a project and their 
duration in days.  
 

Activity 1-2 1-3 2-4 2-3 3-4 3-5 4-5 

Duration 5 8 7 6 5 4 8 
 

Determine the duration of the critical path.  
 
 

(a) 24 days    (c) 22 days 
 
(b) 23 days    (d) 21 days 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 
Answers: 
 
 
1. d  2. b  3. c  4. d  5. b  6. c  
 
 
7. d  8. b  9. c  10. d  11. c  12. d 
 
 
13. b  14. d  15. a  16. d  17. c   18. c 
 
 
19. a  20. a  21. a  22. c  23. b  24. b  
 
 
25. c  26. c  27. c  28. a  29. b  30. d 
 
 
31. b  32. d  33. a  34. a  35. c  36. b  
 
 
37. d  38. b  39. b  40. a  41. c  42. b  
 
 
43. d  44. a  45. b  46. d  47. c  48. c  
 
 
49. d  50. a 
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